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Symbolic Scalars 32_ie 43 3 5 ast J
Symbolic Matrices 4 x_ Clé stins .
. Polynomials 2521l < 43S o) Symbolic Arrays 4 s, Gl shia .
Character Arrays (Strings ) 4 s Jusiad) 3
Numerical Data 4 <l -1
Scalars 32,8l dpasal) &) yatiall o
i) ad LS J3A e MATLAB b 8 Scalar(sam 5) 83 sie dpaae dad iy ya3 o
=3 aY! i M, 32 jkall Laaal) el 3 ¢ (=) Aadle o5 ¢ ((Apaaall dall 4 ) jai 53
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>> c=a+b
C =
8
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Matrix <ibghuaal) o

ol (S Al Baee 5 A8 Cgha (e 05SE AlE Y (e Ao sena (e ke 48 shadl)
48 iadll palial da0ml) adl) 438 o Ja AN ardall sl LUS A (e e d20c 48 ghina
b AU Ehgad) ool o8 831 28 ([) mal g 3 ¢ (=) Bl 3
L) 38 siaal) AT M ]) ol gy s 3 siemall L) o3 138 5 A 25 ¢ Y1 Canal
A=t )

6 4 '

Juadll oy g ¢ aaly (A paiall g paie JS u Space 4dbus Jexy 5 Comma () dlaldll 4adle
bl 5l Semicolon (;) 4 saiall Abaldll dadle aladiuly adly ) aall 3 J5¥) Caall

>> A=[1 3;6 4]
A=

1 3

6 4
>> A=[1,3;6,4]
A=

1 3

6 4
>>A=[1 3
6 4]
A=

1 3

6 4
>> A=[1,3
6,4]

1 3

6 4

Vectors <igaiall o
¢ UL s Column Vectors 4 see Clgatia Alall oda A caudig 3l 5 3902 5l Vectors
Ciglal A8 ghas Jics

e o5 ((Aaaa) el 4 ()i (531) el aad LS VA (e pdeall Asial) G jad (S
paie JS Gn deadll b 4l Lale ¢ aniall jualie ad JAdi a3 () ea) oo u s i 5 (=)
2 ¢ ziliall Aa ) (e Comma(,) ALald 5l Space ddlua Lol aaiall 8 4l 3 paiall
LS (]) el e oo st Aniall (3la ¢ aniall jualie JA1 e slgilY)
>>A=[1 2 3 4 5]
A =
1 2 3 4 5
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>> A=[1,2,3,4,5]
A=
1 2 3 4 5

Semicolon 4k sl dlaldll dadle aladiuly (p paie JS G deadll 218 4l jualic
- b WS miilaad) da 5l 8 Enter Uit e baally 51 ()

>> A=[1;2;3]

A=

Symbolic Data 4 e, cliball -2

Symbolic Scalars 83 dall 4334 1) a8l o

el lera dalaty Al sl s a8 Y5 dpaill Cog all (0 Ao sena (& 4 all JuDL)
s string 4 s Adudu 35 jtall Aal) il 13 Alla 8 dpai Caga il e MATLAB
S o3 (=) Aadle & (A al) Aludud) 4 ) ai sA) el and LU OMA (e Ledy 23 (S
single 328 Ll Adle Llaly 3 ymaa (ol ) (g 30 adll dalll aaiy sym AN

s Al ABaY) 8 = e 8 LS ¢ quotations mark

>> D=sym('K)

D=

K

>> E=sym('X")+sym('Y")

E=

X+Y

>>sym H

>> H=sym(‘welcome in MATLAB programming')
H=

welcome in MATLAB programming
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Symbolic Data 43 3e ) cbibud) - 2

Symbolic Matrices 4 ) cild giuaal)

Y AUS YA e Symbolic Matrices 4 el Gl siasdl MATLAB gl p <8 ya
Ailioas 4y 3 a5 ey JS (o Jemdl) o A ghamal) 3 Aadiiadll 50 )l e sie SYMS
alie: J2 8 ([) ol om0 i ¢ (=) Dl Lo sl siiall sl S5 G space
Space alaaiuly Lol 48 shiaall A4l ) juaiall g juaic IS (G duadll oy 94 30 )l 48 shiaall
palie Jiab a8 ¢ Jg¥) caall palic JAa) e elg@W) g ¢ () Comma Adalé )
semicolon i saiall Alalal) 4a ey 4uly A Caall y coia IS Juadll 2 Euay S Caiall

o1 Al ALY) A e se 58 LS
>> 0 Some Examples of Symbolic Matrices Defining
>>symsXzy
>> M1=[3*x 5*z; 7*y 9*X]
M1 =
[ 3*x, 5*7]
[ 7"y, 9*X]
>>M2=[x 3*y -4*z;z 5*x -2*y]
M2 =
[x, 3*y, -4*Z]
[z, 5*x, -2%y]
>> M3=[3/(x+y) 2*y z/x;x-y (y+z)I3 3*y-z]
M3 =
[ 3/(x +Y), 2%y, z/X]
[ x-v, yl3+12/3, 3*y-1Z]

el (B el el Glily g 50 48 jeal class e¥) padiey o ddaaBle o
. MATLAB

>> class(M1)

ans=

char

>>A=[1;2;3];

>>class(A)

ans =

double
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MATLAB gz b <l idall ) 53

Built in (Predefined) Variables zebi ) 8 iy aill duwa &) juitia ]

o il 23 saaall special values 2alall il s constants <ul sill (e de sana &
Ly e oy () (0 538 _pilie Lgaladiind (S5 Aalalal) sl yall Ay 3 Lolali 48 jaa U

slac] axe xic MATLAB zeebi 8 dnbun dolee mil oY oal 58Y) yuxiall 5o
Mia cdaill) dasll yuaia (‘.\.u\
>> 543
ans =
3 ans
e audl oy ol LY ans i) (B aead) ddlae gl ¢ jan Ll als ll o
Al laall o2 il
s SUl JSEN el pall (8 s et g r =22/7 4Gl Al o
>> Pl Pi
ans =
3.1416
S Gle dedll (e 4l oo infinity AU ad ey
>>1/0
B Inf
ans =
Inf
Ladie =335 38 g Not @ Number ades jLaidl & ¢ a8 ) Cund Al dadll e juad
(3 g0 e sl ¢ Bashhe Clasleall Gl go el 5l (0/0) (5 sben L) 4ad O 5SS
.QM\QFUE\M@C)}%EQQMU
>> 0/0 NaN
Warning: Divided by zero.
ans =
NaN
e Jadl (Dlay Lagh (328aall) 48 jall dlac W)y ja% e (g el (e sl aladil S
s AU J<all e agaladiind 2 Cua A el 2lae S LAl
>> 3+4*|
ans =
3.0000 + 4.0000i -
>> 3+4%] ¥
ans =
3.0000 + 4.0000i
V=1 &S yall 22l QM&}J\%Q\:\L}M@
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ikl (s A aadiud Epsilon osley! leale Gllay jaall Jddaliedad oo
- ) UL G5 ¢ 2(<52) (5 sl s Al paly Il | 20al

>> eps bl
ans= (€)
2.2204e -016

User- defined Variables adiiaall ddac) g3 b 2l & yiiia .2
e bl Cayrian g dpai o) dgoac da Lgillac Ly Lgdy yoy adiisall a5y Al 0l yuriiall o
Oan MATLAB el (8 iiall & a5 ¢ Uil U HS3 LaS a2 () 93 & el o4 & 8
Ama dag i
~Matlab zeeliy JA)s &l piial) dpaniida gy o
o asiall aud LUS Sy Y Diad Je ) a8y Gl s Cian i) and oy o) e A
cal=5 JA e yuiall and 40U WS &b (e Yaug 13= 5 J<A
e aiall ol LS Sy Y Db ((§) ) Al o el aul g ging o) (S Y 2
JSal e Underscore (1) daliwdl dda il Aadle alasiul (Say &lld (0 Va5 g val JSal
.a_val
#,@0,2.% % 4, JedQlll jsall pan o il aul gsia¥ Gl 3
AN 01,0 <>,
Y Mide MATLAB geebi (8 3 saae Ala ) el and il sl 234 Y o any 4
daalisa) Ll 5 reserved words &) ssaall QLS e an¥) 138 Y i sl dpend (Say
ML S Lgza a8 ) e A (e Led Aguadh el ol (Say oS g 421l Jala keywords
gl Jala s ) saadll Kl e AailE 0da 5, [F Jis capital |eS Lo s J) daa
if elseif else end for while break continue return switch case otherwise
try catch function global persistent
& iskeyword ¥ LU MATLAB gl (8 5 saaall Ll 2lE e o jatl) a5
;b WS command window <l 51 3384

>> iskeyword
ans =
'break’
‘case’
‘catch’
‘classdef
‘continue’
‘else’
‘elseif’
‘end'
‘for'
function'
‘global’
if
‘'otherwise'
‘parfor’
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'persistent’
‘return’
'spmd’
‘switch'
try’
'while'
2 a0 8 degau s G 63 o el sl lgie ¢S Al Gpa¥l e 1R Y ol e 5
L a 63 0=
3Kl CaaYl O e Cus case sensitive <o aY) Al s MATLAB U » .6
OB A ¥l paie Soendy ALl xie DUde small letters & el <o aY) 5 capital letters
CA el ge Glide dag Al ol e daxe Jaaiy MATLAB el

- MATLAB gebi s 8 Al )l cblaal) o) ol 48
O A, Ranll ¢ puall | V) I ) Al clileall ol jal 2 G G Jsan)

. (ol ¢ peal) ¢ Aol
ALY Tl ) il | THU2 o JaS
MATLAB
ong s 5sall I ) N
Y
6*3.14 @ _pall *
19.54/7 danall /
7\19.54=19.54/7 A puSal) Aol \
16%5 danadll AL rem , mod
3+22 el +
54.4-16.5 S -

- MATLAB gl (b dudalby )l cibaleal) (4 9l slyeibod

)

>

1
-2
-3
4

ol @Y
.3}33\‘51\@)}\
Lz okl el

AR G e s sind A Gpadl (Il (e Al 1) lleall s - Adaa e

Ex:- >>(3+22)*(15.7-8)
(1|) (2)|

|
3)
ans=
192.5

17
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Ex:-
>>3+22*157-8
|
(1)

|
(|2)
3)

ans=
340.4
- <Us j-d o
(Rl ) el ¥ e 6 Al A semicolon () ddassiall Alaldll Aadle pay e 1
s U JEal 8 Al BaaY | Sl jledal (90 jal) 288 o (o guad AL

>> g=4+5
a=

9
>> a=4+5;
>>
G al e e e 0 ) e il (alat Adlal () e el Uag 8 el pl) AU LW 2
e 5l Lgdda (e Y A e b ) gy yal gW) (mny 20855 Jalaa®h ) rlisg 28 ) ¢ zrali pall Auana il
Galatll AUS o 5 0 Ay sial) Al Aadle pa2id MATLAB gl (85 ¢ s A 5 Leilis

;o LS o288 Judaa 3l pall W) (J8 AaDlall pudh 222505 gl 3 piilae dadlall amy

>> 0% summation process
>> g=4+5
a=

9

AL Gl V) (ol S 2ie
>> Opa=4+5
Y0 el g siie a3Y ¥ i ) Db
bsd juaiall LUS JOA (e el g el ) (8 A& o3 () dan 4508 38 jra g uatia eledinl (S 3
: b WS enter zlise e haaall

>>a
a=

5

18
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: command window«workspace S8 b aSadl) Jl g3 gy o

Jsaall A Lt s workspace , command window (538U 8 wSaill J) g andli oK

. LQ\_ﬂ\

Operation | Function

338U (3 Lgaa (50 b command window 33U G sise aies e Clc
workspace

A Al @l el aea dieaiall workspace 33U Ol gisa g s Clear
il 8 Lgalasiiud

workspace 338U (e ad g p ¢ @l jusidl e | clearabc

a <o g ) 5 workspace 838U (8 83 s sall Ol jsial) aas e | Clear a*

Lealadind &3 Al &l paiall gres diaaiall g workspace 3385 b sise e Who
il

(&3 anall ¢ Aa¥le an¥) ) Jaatills workspace 838U b gisa (i o Whos

matlab.mat =l 5é¥) aldl & workspace 835 <l sise aen Jads Save

19
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Ay J) gl

Exponential Functions: 4% Ji s .1

Example

Function in
MATLAB form

Operation

>> exp(0)
ans =
1

exp(x)

A A1l

>>log(1)
ans =
0

log(x)

>> |0g10(2)
ans =
0.3010

log10(x)

100 i sl 1l Al

>> l0g2(2)
ans =
1

log2(x)

2l e 51l Al

>> pow2(3)
ans =
8

pow2(x)

2 5 8 I a1 Al

>> sqrt(4)
ans =
2

sqrt(x)

>>power(3,3)
ans =
27

power(X,Y)

X oAU gl Al

Trigonometric Functions: 4k J) sal.2

Jia

@AUJ,\ gﬁ B
MATLAB

4 ALY Al

>> sin(5)
ans =
-0.9589

sin(angle)

sin Al

>> c0s(b)
ans =
0.2837

cos(angle)

cos allall

>> tan(5)
ans =
-3.3805

tan(angle)

tan 4l

>> sec(5)
ans =
3.5253

sec(angle)

1/cos Al

>> csc(b)
ans =

csc(angle)

1/sin 4l

20
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-1.0428
>> cot(5)
ans = cot(angle) 1/tan i)
-0.2958
>> asin(b)
ans = asin(angle) sin Al (u Saa
1.5708 - 2.2924i
>> acos(b)

ans = acos(angle) coS WAl L Saa
0 + 2.2924i
>> atan(5)
ans = atan(angle) tan Alall ( sSaa
1.3734

>> asec(5)
ans = asec(angle) sec Al o sSaa
1.3694

>> acsc(5)
ans = acsc(angle) cSC Al e S
0.2014

>> acot(5)
ans = acot(angle) cot Alall (s ¢Saa
0.1974

Jisni = 25 « Radian degree ) sl dulie o2le ) Ak J) sall aren -3 AB3adla*
;b SO ellh (K 43l degrees s Al AN padl)
sind JAL sin Al s e Ay () J8 d < all ALl -; AgY)
L Sl JUall 8 LS (pif180) el Adlal) 2k J 4y ) 3l oy 1A
>> sind(30)
ans =
0.5000
OR
>> sin(30*(pi/180))
ans =
0.5000
Dlaally dllal) aaw J8 4y 51 5 o jpuid (g lall pasill D Sl el a8 e Ayl 50 Jasail
s Sl Jhall 8 LS (180/pi)
>> sin(30)
ans =
-0.9880
OR
>> sind(30*(180/pi))
ans =

21
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-0.9880
- il G paY) sl aladinls MATLAB geebie 8 4 sl o ad oy —o 43NN 43 jhall
Gl I (radians ) 4kl caai 450 50 dysail e 1 aadiy -2 rad2deg -1
. (degrees)
Example:-
There are 180° in n radians :
>>anglout=rad2deg(pi)
anglout=
180
Cuai aladll I ((degrees ) Sl oall e 4l dasadl 5a¥) I aadien -2 deg2rad -2
. (radians ) ¢ _kdl
Example:-
Show that there are 2 radians in full circle :
>>2*pi — deg2rad(360)
ans=

X/

Routing & Remainder functions : 48 g gl Jlga o

1-fix :- Round toward zero
(Lf‘}uﬁ‘ ;);J\dw\)}d\é\@meﬁjgﬁ\é\%ﬂ\uh

Ex:-
>>3=[-19,-0.2,34,56,7.0,24 + 3.6i]
a=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i

>>fix(a)
ans =
Columns 1 through 4
-1.0000 0 3.0000 5.0000

Columns 5 through 6
7.0 2.0000 + 3.0000i

2-round :- Round to nearest integer
L a2 8 ) cw sl Al
Ex:-

>>3 =[-1.9,-0.2,3.4,5.6, 7.0, 2.4+3.6i]
a=
22
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Columns 1 through 4

-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>round(a)
ans =
Columns 1 through 4
-2.0000 0 3.0000 6.0000
Columns 5 through 6
7.0000 2.0000 + 4.0000i

3- floor :- Round toward negative infinity
bl sad o8I AN ((—o0 ) Al AU slaily s Al

Ex:-
>>3 =[-1.9,-0.2,3.4,5.6, 7.0, 2.4+3.6i]
a=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>floor(a)
ans =
Columns 1 through 4
-2.0000 -1.0000 3.0000 5.0000
Columns 5 through 6
7.0000 2.0000 + 3.0000i

4- ceil :- Round toward positive infinity
CCnatl) s oy S A | (400 ) A sl AlgiD alaily oy i) Al

Ex:-
>>3=[-19,-02,34,56,7,24+3.6i]
a=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>ceil(a)
ans =
Columns 1 through 4
-1.0000 0 4.0000 6.0000
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Columns 5 through 6
7.0000 3.0000 + 4.0000i

5- rem :- Remainder after division
Al (e (SLI Al

R =rem(X,Y) if Y ~=0, returns X—(n.*Y) where n=fix(X./Y)
Ex:-
>>rem(8,5)
ans =

3
>>rem(8,8)
ans =

0
>>rem(8,10)
ans =

8
>>rem(-1,20)
ans =

-1

6- mod :- Modulus after division
sl (e L Al

M = mod(X,Y) if Y ~¥=0, returns X-(n.*Y) where n =floor(X./Y)
Ex:-

>>mod(13,5)
ans =

3
>>mod([1:5],3)
ans =

1 2 0 1 2
>>mod(magic(3),3)
ans =

2 1 0

0O 2 1

1 0 2

Note:- magic(n) returns an n-by-n matrix constructed from the integers 1
through n*2 with equal row and column sums .
>>magic(3)
ans =
24
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ALY Al yal)
8 1 6
3 5 7
4 9 2
Notes:-

e rem(X,Y) for X~=Y and Y~=0 has the same sign as X.

e mod(X,Y) for X~=Y and Y~=0 has the same sign as Y.

e rem(X,Y) and mod(X,Y) are equal if X and Y have the same sign, but
differ by Y if X and Y have different signs.

Ex:-
>>rem(-5,2)
ans=

-1
>>mod(-5,2)
ans=

1

7-sign :- Signum function

Ex:-
>> sign(0)
ans =

0
>> sign(-9)
ans =

-1
>> sign(0.1)
ans =

1

-1 LY Ala

1A b g il a2 S) G pall G850 IS 1)
S AN il b i) (e s saal Gl W0 S 1)
0 ANl il o aall ) (s sboaa Jopall W31 (S 13)
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Complex Numbers: (4l ) 4 all alacY)

Jae M e 3 s Real Numbers 4iisll slac 3 e ja 2a) 55 4 s3] 5 dapa 48 jal) dlac 1 24l
AUl dalall 3 saall e ) S35 Imaginary Numbers 4l

Z=X+Y*i
Jie 48 jall dlae Y e clilaall (e aa=ll o) s e MATLAB By Jazs
(X)) S Al anall G il e 5all Sl ]
(Y ) Sl 23a) e LAl & Sl sl 2
Al G (e Ll Latle J gumal iy s ghall 351 sl 3
Imaginary part )

angle =tan~!
& ( Real part

Al A8l A (4 Lele J sanl 25 Absolute Value dalkall desl) s 4
Absolute Value =/ x2 +y 2

7 S el a0al e IR0 3y L LS il Sl lleall a3gn a5 i ) sall il (S
>> 7=2+4j|

7=
2.0000 + 4.0000i
: Function in
Example Operation MATLAB form
>> real(2) e aiall ¢ 5l Ay aadiud
ans = Z S yall 22l real(z)
2
>> imag(z) o Juall el Ay aadiu
ans = Z S yall 22al) imag(z)
4
>> abs(z) 22all dallaall dagdll Aoy aadiid
ans = Z Sl abs(z)
4.4721
>> angle(2) phase _shll 4l ) alagy aaaius
ans = 3oMa 7z S,all 2aell angle
1.1071 radian ol
>> angle(2) angle(z)
ans =
1.1071

< degree S radian ¢ 28l Gy gad cang Sla Al shall 4 ) 5 Aad lual ; 3daaSla
. 180/pi latally 435 1) A

o b L A YMATLAB s gali y €1 / Jlie

26
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Gl o5l

- Sl 20l Aallaal) Aol

skl dgs) )

C=5 V=9 +13 — ) S el aaall

Ex:-Write MATLAB program to calculate the following:-
1-Real part

2-Imaging part

3-Absolute Value

4-Angle phase for complex number

C=5+v-9+ 13

Sol.
>>C=5*sqrt(-9) +13
C=

13.000 + 15.000 i
>>real (C)

ans =

13

>>imag (C)

ans =

15

>>angle (C)

ans =

0.8567

>>angle (C) * 180/ pi
ans =

49.0856

OR

>> rad2deg (angle (C))
ans =

49.0856

>>abs (C)

ans =

19.8494

27
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MATLAB gl & g) AY g JAN al )
Input I/P & Output O/P Commands
: input JAN sl 9l
Lt s a5l Aunae il JIAa) ol LELED e aodiuall dpemi Al input seY! ok
s ol ) eall saal e input e aasiuy g el 4d jmy e I
dgase Gl JW) 2 Y

X=input(‘'displayed strings')

oo il aadiiall lpa jo ol Al Al Jiad Gl (0 4o gaaa & :Displayed strings
Aded JAd) 4l A il g X o Lellanl axdiivall a i i) gl

>> x=input(‘'x=");

DYl A yhsall By
Ji e X dad JBa) sl
PRECIA

X=
X =5
& il bl Jaadd dalud) 355kl e Liage a2 JWaY) 5 e aadiug adaadle
o bl JAOY) A5y o cpmali yall 2855 S die 3Uaral) aitlly oSl MATLAB el
Al ad lac ) Sy o328 JAOYI 4G Hh aladiuly (K15 L s oSy Y A0 A aes

35 yad A 50 sa Jaaal) aial o)) e Ol deai Al Giae 550 all da s JAaY -l
>> T=input('Enter the temperature’)
Enter the temperature
12 oKl 3 sall da o Jiay 3 T 4 Jaak a8 o3l dlaall ) gda 2ay
T =
12
;\i}AJ Ul JWAY . 1.;313

X=input("displayed strings','s")
48 5all 5_SIA (e Jatasall cp jal) (Blad apaat & UL & 68 aaaS 2y 5 (String) 4elST e
Zeebiall A 5l 3 ,SIA laal aae e ae by Las geali yll

(6 i) (ially e s 51yl Ao o e o) A Alas 5 e 351 Jlie
>> T=input(‘enter the measure of temperature ','s")
enter the measure of temperature
Celsius ¢ bl (ubidall (S35 (ulidall JAal a8 o3le ) Alaal) ) geda 2au g
T=
Celsius
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disp/display/fprintf : z) AY) sl
el gV yme 538 8 Al il il 5) i paiall slassl g o (el 2l AN el 5l 22300
. Command window
dual gl e CilS ¢ g Jadd Huatial) Aad (a e & disp Y aaiiin s disp sY 1
POl gaal e e 13 aadling o

disp(x)

disp('displayed strings’)

Cira (il a el (SN e andiig Laiy X aiall 4a (a jal Jo¥1 eV aadien Cus
. single quotation marks (L3l Jidle g allaal

4aac daf (ajal ;U
>> x=100;
>> disp(x)
100
OR 3 il siall ) Sy )
>> X
X =
100
OR (i il
>> disp(’ the value of x is ")
the value of x is
- ) IS e il il g Apnaall dagil) o5 (S
disp(['messege’,num2str(variable)])
I Al Al By a3 ) numerical to string = s nUM2str Al aadis Gua
(il il ) Al 5 ey Byl Al el | 8 addind ¢ A ja Judlas
>> disp(['the value of x is ',num2str(x)])
the value of x is 100

el ) IS o) gun alad 3 paall ol (mje B display <Y aadius @ display ¥ .2
‘@&&\BJM‘&Q(‘;M.“ “‘56:\7};43}\
display(x)
~4d 5 « command window 33U e 4id 2 X juriell anl (apal 0¥ 13 a0dieny Cua
p ol bl Baa ) ANl $Y Gl (3 ) gucall (i eaal 511 (55l

>> X=5;
>> disp(x) %display only variable value
5
>> display(x) %display variable name and value
X =
5
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il e A3y pha 8 @Al e (1 a8 (e 458 L pualic aaaa (All) B 6l 48 gdiae/ e
>> disp(ones(3))

1 1 1

1 1 1

1 1 1
>> display(ones(3))
ans =

1 1 1

1 1 1

1 1 1

Aa3ll) 48 shnall palic ad a2y zeli ) 5lE disp(ones(3)) sxY! padiul Ladie 4l Ll
ans (ol Y paiall sl (e zeli ) 8 display(ones(3)) ! pasiul Ladie Wl Laas
bl o 58y 25 0Nes(3) oo Aadlill 48 hianll (5 jAdl Gaze jaxie Gy a5y ol aaiiidl (GY)
-:fprintf_(File Print Format) ¥ .3
Al 4l A f s sl command window 338U e gl dcbib ol ya¥) e PREA
Jesd L;S ULl Gawitl Aulial) 4 el sl BiSay Eus format el (s fprintf
el A
fprinf(‘text’) AW Loall i ¥l b ai juaidella s 3 o
: JBe

>> fprintf(‘the amount of precipitation is')
the amount of precipitation is
-3 A Bapally Sy 5] (b i da g el jpaidelh Al il
fprintf(‘format string’, list of variable)
- osdall 40011 4l g variable Ll ¢ ULl 5ot Ua format 4elSy =i
s Al Aapall padiud format Gawilll g 53l
fprinf(‘text % -3.1g',variable)
Adelda 3 ) il Jiay text
o LS Clalaill pad Ui 3 0 138 (o) Aas Dl g ¢ @)l G i il JiS %
cAlaall oda B adelb o)y paie JSI S () ang Lail g Wl daua 3
s A sl 8 i ge eS¢ il il (Gaily oSal) (e LiSai s 5 LEY) -

aanl) il \ o inall Yl
il gl el MATLAB o )
) bl sai3l3las
e : %-4g for 1 results in 1xxx
9.00 >> o e s & il () S 20l (e
X = b
>> fprintf('%+5.2f',9) . Ly "
+9.005> %+5.2f - o) 4 S o) g 20wl 3 LS aaday | '+
>> fprintf('% 5.2f',9) | % 5.2f aalldebh JA g a5 |t

30
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9.00>>
M lo ]
o 5'822”( %05.21.9) | 9405 ¢ el il o Y sl oy | 10"
el (S e B Jiayg Bl (i je Sy 3
oWl ae il el dae Jiag A
Dl Jsaadl (8 LeS Q8 )l drpa el aoddudi Al dusaly )l sl Jiad g
>>8=5.5; / i s el
>> fprintf('%d',a) X S S sl
5.500000e+000 e "J“;lsj "l &= gy
PRSI CO K PN I U
OR _ OS 1 mmes oS dna | OF
g.OOOOOO» fprintf(*%d',5) i | . %i
>> fprintf('%e',a) s ahdiul 4wl Loa Yo
5.500000e+000 e b all (o Yl 0
>> fprintf('%E',a) s ahadul 4wl dpa 9%E
5.500000E+000 E 3 ,uSl) CajaY) 0
M IO ]
;Eggggéf( Y%f',a) (6ol ) isial 3aa)) i 06f
>> fprintf('%g’',a) cIobaial ySle 5 f Gndiua o
5.5 222S danlad g LS daall el Oong
>> fpl‘intf('%G',a) U9 (e 95).».'1:9 e J\ o %G
5.5 G AU Gl |70
>>n='MATLAB"
>> fprintf('%s \n',n) ih s Aludu ailay | %68
MATLAB
: b

>> fprintf(‘the amount of precipitation is %g',0.6)

the amount of precipitation is 0.6

O) Al 0 Aadlal) Ui 5 5 the amount of precipitation is aill juaill dc bk o
G A IS (6K o) e g e L Aliatal) g LAY addtin 8 gu (g3 20al) drpa sl aaAS

31
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A0 A )

s agle aud

@aa)) Jylal g Aaa ) e

- Sl Jsaadl 8 LS fprintf eV g s jaall Gausil 4000 faall alading o

il il MATLAB dapay Y Al ll | dxuall
fprintf(‘hello’)
fprintf("\n") i Caa,
Eigo Eerintf('bye') e )Jm \n
>> fprintf('hello \n bye")
fprintf('hello’)
fprintf(\t") Al & iy
hello bye fprintf(‘bye’) 4 e 4 \
or Tab
>> fprintf(‘hello \t bye")
fprintf(‘hello’)
fprintf('\\)
hello\bye fprintf('bye’) \ JSall ol \
or
>> fprintf('hello \\ bye")
fprintf(‘hello’)
fprintf('\%") 0
Hello%bye forintf(bye) % JSa) pabay \%
>> fprintf('hello \% bye")
—: gl Lgdal A8y jha A Adbidal) ALiaY) (lany o
Program Results
clc the format for d
a=[12 55.5 43]; 12 5.550000e+001 43
fprintf(‘the format for d')
fprintf('\n")
fprintf('%d \t',a)
clc the format for 2.2d
a=[12 55.5 437]; 12 5.55e+001 43
fprintf(‘the format for 2.2d")
fprintf('\n")
fprintf('%2.2d \t',a)
clc the format for e
a=[12 55.5 43]; 1.200000e+001  5.550000e+001
fprintf('the format for e') 4.300000e+001
fprintf(\n")
fprintf('%e \t',a)
clc the format for 2.2e
a=[12 55.5 437]; 1.20e+001 5.55e+001 4.30e+001
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g3aal) Jolaill s dina ol i

fprintf(‘the format for 2.2¢")
fprintf('\n")
fprintf('%2.2e \t',a)

clc
a=[12 55.5 43];
fprintf(‘the format for f')

the format for f
12.000000 55.500000 43.000000

fprintf(‘the format for 2.2f")
fprintf('\n")
fprintf('%2.2f \t',a)

fprintf(\n")

fprintf('%f \t',a)

clc the format for 2.2f
a=[12 55.5 43]; 12.00 55.50 43.00

clc
a=[12 55.5 437];
fprintf(‘the format for g')

12

the format for g

55.5 43

fprintf('\n")
fprintf('%g \t',a)
clc the format for 2.2g
a=[12 55.5 43]; 12 56 43
fprintf(‘the format for 2.2g') Zanaa 23 Y il o i
fprintf('\n")
fprintf('%2.2g \t',a)
- 3.)311\\ @A\ng -:\35:\3 @L\' KER
command Results
fprintf('%d %f %g | 5.500000e+000 5.500000 5.5

%2.2e\t',5.5,5.5,5.5,5.5)

5.500000e+000

x=97.5;
fprintf('it "works"%g %%of the time\n',x)

it 'works'97.5 %of the time

x1=10;

X2=2;

X3=x1-x2;

fprintf('Difference of %g and %g is %g
\n',[x1 x2 x3])

Difference of 10 and 2 is 8

matrix=[1 2 3;4 5 6,7 8 9];
fprintf(‘'+---+---+---+\n");

FPrintf(| %g | %g | %g [Nt-wmteemtom-
+\n',matrix’);

S R S S
|1]2]3]
S R S S
|4]5]6]
S S S S
| 718]9]
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-2 fprintf ¥ aladialy clibad) Biad cila ) cla il dslih o

281 ()50 ey Lasd opledind Sy e oLl paliall Cila ja Jaaald fprintf oY) aadiey
- Sl JSAIL CESS peBU dalad) drpall ¢ (5 AT B e el )
fprintf (' filename' , ' format string ', list of variables )

e.g.
fprintf (" myfile','%g "', x)

.myfile 4eu) il A X Al Ju

Ex:-

>>x=0:0.1:1;

>>A=[x ; exp(X)];

>> filelD=fopen(‘exp.txt','w");

>> fprintf(filelD,'%6s%12s\n",'X','exp(X)");
>> fprintf(filelD,'%6.21%12.8f\n",A);

>> fclose(filelD);

>> type exp.txt

X exp(x)
0.00 1.00000000
0.10 1.10517092
0.20 1.22140276
0.30 1.34985881
0.40 1.49182470
0.50 1.64872127
0.60 1.82211880
0.70 2.01375271
0.80 2.22554093
0.90 2.45960311
1.00 2.71828183
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A Ayl sall sl aud g3 Julatll g Ana ) pida
dnalll M cilils
Script M — Files

aalin lede Jeny A Script Files drail) il g 53 (e g 53 04 - M — Files <\ila
Calo (8 cali sl alg) S oy G ¢ A i) Gsa 0l 5 el ) JUAaY Al S MATLAB
. ("M-File" <l 132 s ) Script File o=
~as M — File «ala glad)
- AMATLAB el 40T aoa Calo o LATY (3 5k SO5 llia
Script ¥l leie yidl e 33008 jedai CuaNew Y JislFile dail (e- 1 oY) 44 Hhall
- Jull Jsdll LS MATLAB 7 AM-File <Y 3l ctMATLAB 2010 zbi» 4

4\ MATLAB 7.10.0 (R2010a)
File | Edit Debug Parallel Desktop Window Help

Mew [ Script Ctrl+MN =
Open... Ctrl+0 Function
Close Command Window Ctrl+W Class ;
Figure
Import Data...
Variable
Save Workspace As... Ctrl+5
Model
Set Path... GUI
Preferences... Deployment Project
Page Setup...
Print... Ctrl+P

5353 sall g sloan 4855 S5 L Al s New M-File ¥V 456 e Jaaal - 40 45 L))
- Jull Jal 8 WS« Tool Bar <l sa¥) day yd 8

4\ MATLAB 7.10.0 (R2010a)

File Edit Debug Parallel Desktop Window Help

EJ o B9 ﬁ E? Ehl L7 T 2 e AR Userstuser Documents' MATLAR
SlNew Script [How to Add  [#] What's New

-: b LS Command Window ! ¥ 3386 Jala edit e¥) i) -; 231 48, Hal)
>> edit

-1 AU ISl 22U ¢ a3 et (b gus ARl AV 3kl gaal ¢ Ll
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A dla jal) sl agle and aaad) Julaill g daa ) yiida

"[7 Editor - Untitled3 SR
File Edit Text Go Cell Tools Debug no WA M
FHEH| B9~ 3-8- >0 -
‘BE | - 10 + | =+ |11 x| 9% ot | @

1 | -
script Ln 1 Col 1 OVR

Jans il 138 s e 5 Untitled s el 13¢] Luial 581 Lol MATLAB geali » 2253 Ci g

C i) 13 and V(%0 m) dsieY) Al e MATLAB geli

-: M-File <ila Jda b g &

Calal) sl ALUS Sy Y Dl e sl B s o calall i o o) e (1

testl.m. JS&I e calal) ol WiSay &3 (e Y gltest.m Sl e

15l (g2 Jiag ansl1 138 (YiF Al Calel Ayansi Sy Y ik MATLAB

.z=U_A Built in functions 4dslall

) 34U Ky Y Siad Space Alals clilus o Calall and (5 530 Y o s (3
Agiaill da L3l Aodle aladivd (Say ol (e Yaustest @ Sl JSE) e Caldl)

.test_a Jull Jsall Ae () under score

Lbas Lealadind (Say ua under score () Aiadll ds jLal Adle oliiuly
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A dla jal) sl agle and aaad) Julaill g daa ) yiida
-+ M = File il lia

O sl (535) £ Ll Editor el sl e Anion b G 5iSall MATLAB guels 3 ol Jaia,
_ A

alite e baal o) Save  Jaiall el Lgie jia) File el LU caad) o 1Y) Ay lal)
File 4l (e Layl Save As aul Baés a1 i) o)« keyboard zsléall 4 ) e Ctrl+S
Lial File 4l Gan 3 5a sall Save All JSI ads jal jidl sl ¢ Caldl (e 5 3 daus Jasal

-l Jall 8 LS e A gidal) cilalall apen

-

[ CAlsershuser\Documentz\MATLAB\program1.m* RN X
File | Edit Text Go Cell Tools Debug Desktop Window Help k]
New »amw o [ B] - & R R|-|
Open... Ctrl+0 av
Open Selection Ctd+p [LATE A NUMBER LUNLE gl |
Close programl.m™ Ctrl+W JUATION OFSTATE
ONSTANT
Save Cirl+5 R
Save As... AMT
Save All | PRESSURE =
Save File and Publish proegraml.m
Publish Cenfiguraticn for programl.m [
Source Control ]
Import Data... ntration N')
Save Workspace As...
Set Path...
Preferences... — . =
Page Setup... Ln & Col 36 |OVR
r Drint el D | —

Tool Bar <l sa¥ Loy i 833 5a sl bl Save Lasall el 4556 e daral -; 400 43 k)

s sl LS
[ Chlsershuser\Documentz\MATLAB\program1.m* @E&J
File Edit Text Go Cell Tools Debug Desktop Window Help o
"ﬂana RRC oS- Aesdi|R-BBBR "

BB | [ove) [+ 1 x| @ -
G ek AL 3R e o) aladiuly malid) 38 el M — File cale Lais ic
Laial _al J8Y1 jlusal) ol Cus ) M — File alad) laés jlus JL32Y Save file as ) sl

- Qall Jall LS« ( C:AMATLAB\WORK 52 zali ) il &) 53l aan
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Al Al yal) sl agle aud a3l Jalatl) g Ao ) piida

=

T Save [
Savein: I , WORK j = ITF "
= Mame ° Date rmodified Type
-ﬁrj Fy
1 LA RFARYAR +ful%  MATLAB
Recent Places program Sefleus |
Desktop
UEEries
Ay
Computer
w
Metwaork
4 | n | 3
File name: Iproglam‘l ;I Save I
Saveastype:  |MATLAB files (".m) -] Cancel |
A

Gbaal) alall i) Jl_;xs\bjﬁsl.c\f@c File name ds;uﬁedas; A el Calall an) i)
,(*_m) Alaialy! S@L}M\M\Q\hchuﬁb

- @L\'Q.A‘ Jardd

adul) U Gkl sasl glib M —File <ale Jaby il MATLAB zeebi o Jaacdii 2y

Tool <53 Jas i 8 55 sall | B RUN el 545 5k e Jaaeal - (1591 &yl
- Gl JSal 8 i ge LS| Edlitor gl _nll e 3286 4 Bar

-

T CAUsers\user\Documents\MATLAB\program1.m E@gﬂ
File Edit Ted Go Cell Tools Debug Desktop Window Help o
DoE[swm20(on- Mennpllanaa]”
BB -0 |+ =11 x| %O,
Run programl.m
1 |% THIS PROGERAM TO CALCULATE HE|NUW =
2 % ATMOSPHERE (N) FROM EQUATION OFSTATE 1
3 % RIS THE UNIVERSAL GAS CONSTANT |
4 % A 1S AVOGADRO 'S NUMBER 1
5 % KB IS BOLTZMAN 'S CONSTANT
6 % P IS STANDARD SEA -LEVEL PRESSURE i
7 % T15 TEMPERATURE
8 - R=.831;
5 - A=6.022e-23;
10 - KB=R/A; -
I 4| i b
| script ln 1 Col 1 |OWR
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A A yal)

s agle aud

(o3l atl g A il i

zlddl e el o) Run file_name 1Y) yial Debug il I caadl -: 406 4, k)
- Hul il 8L s il Keyboard giliall 3a 5l (0F5

(= CaUsershuser\Documents\MATLABAWORK \programl.m [E' (=] &J
File Edit Text Go Cell Tools | Debug | Desktop Window Help k]
T M| % B9 ™| & v OpenFiles when Debugging »
BB -0 [+ ]+ 12 F10

o - =
1 % THIS PROGERAM -
2 % ATMOSPHERE (N) i
3 % R 1S THE UNIVERS R
un prograrml.m F5
4 % A5 AVOGADRO' S
Run Cenfiguration for programl.m »
5 % KB IS BOLTZMAN |
3 % P 1S STANDARD 5
7 % T15S TEMPERATUR Set/Clear Breakpoint F12
g - R=1831; Set/Modify Conditional Breakpoint...
2= A=6022e-23; Enable/Disable Breakpoint
10 - KB=R/A; o _
11 - disp(‘calculate the num Clear.Breakpmntslr.'l All Files
12 - n:input {'number of stz Stop if Errors/Warnings...
13 — fori=1:n Shift+F5
14 — disn(l{'state") num2sTrir :
I 1| 1] 5
script Ln 6 Col 36 |COVR

el Y1836 b il MATLAB  zeebi s cile (5) Jaial (5 phall 38 a2dius - 231N 44y Lall
gl ) ma 3380 il Aalal) 50 el 5¥) 8380 8 i) and 245S Command Window

- Sull Jall 8 LS Editor

4\ Command Window

ol

File

Edit Debug Desktop Window

f{ »» file name

Help u
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Al Ua yall asad) Judatlf g daa pull i

-; ABiés (G M — File cile b

G (M — File ) MATLAB gzt . ala open gzl adul) 3380 3 all (gaa) aadins
_: alsia

b e ks 338U e Open @l el Jia) File 4@l ) caadl -: (J5Y) A5
(e Ctrl+0 (Abise e baally o) Editor gl il qdie 3386 e 5 MATLAB Desktop

s agle aud

-1 Ul Jsall i LS« Keyboard eslial) 4 )

Save Az...

Tool &l sa¥) Loy y& A5 jallal)

 Untitled2 BN T
File | Edit Text Go Cell Tools Debug Desktop Window Help u
New rA @ Rl-BR-BMR- >
COpen... Cirl+0 25 | @,
Open Selection Ctrl+D o
Close Untitled2 Ctrl+W
Ctrl+5

= | Open File ¥ 4358 e Jaruzal —: 430 45 L)

WS« Editor gl miia 836 e ) MATLAB Desktop gt » <€ =l e Bar

L s s

"[ Untitied BT
File Edit Test Go Cell Teocls Debug Desktop Window  Help ™
NEjE s @20 (o2-Aennp-aRBR[-]”
"B Yopenfile]) |+ | ¥ 11 | x || @ B

Open C&&M‘édﬁ‘ﬂ\@‘w‘)@iy Open )‘j&j‘@f&)@hﬁq)u

sl J<al s s
4\ Open Iél
Look in: | |, WORK - % i G g
b= MName - Date medified Type
e # ;
Ploces programl T )+ s +f2E9 MATLAB
Desktop
u=m}|
Libraries
Computer
i ™
‘!!
MNetwork
“ (11 3
File name: |prcng|—c|m1 j
Files of type: |,'l'd| MATLAE files j Cancel
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A0 Qs o) Re: (a3l nl g Aya ) e
L onalall ) an) aladii) ;AN A5, )

>>open file_name

Or

>>edit file_name

Calall aily e gria cpiilad) o Y1 2a) S0 Command Window !l s¥1 8380 YA (4
e I gdadll
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400 s al) s agle ad ) Julail) g daa pll jida
DI SEN g Ja i) g aSadl) Jaa

PROGRAM CONTROL, CONDITION AND LOOP
STATEMENTS

-1 Ak ) Jaadl -1
-1 @ 0 5 ) bl das puds
( if —statement) 4uaill 13 Ales -1
(switch —case ) @osidlldlea -2
-2 (iif — statement ) 4shpdd) 13 dlay -1
« ( condition )L)ﬂ\ébsgg \qwg\@u)g\wasﬂ%esémem}
- fa O L
- AUl Sl g sl g da sy aladiud Alla S lada dd f aasia -]
if condition
statement
end
ex:-
x=input(‘enter the number =")
if x>0
disp(* x is positive number ")
end
18 ¢ jf Jadll dlea e e aS else eV aadiuy - (if / else) sl -2
Ji e ) if dlead 4l i) Gaiad agde iy if dles oyl (380
G 5 peall 33bs ¢ else Lo lil) 383 Y (58 else A
if condition
statement(s)
else
statement(s)
end
ex:-
x=input(‘enter the number =")
if x>0
disp(’ x is positive number ')
else
disp('x is negative number ‘)
end
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A6 s ya) ol asle aud (gad Jula) s e ) 4k

if Lol des ) sm (a3 eall 2 (e (2 all -2 (if / elseif ) Adeadl -3
- A Aapall 2alg da 3 e SS) 83 (520 AN ga
if condition 1
statement 1
elseif condition 2
statement 2
elseif condition (n-1)
statement (n-1)
else
statement (n)
end
G e 22al) G G ¢ 230 JASY MATLAB 4l el yo S/ JUa
§ Jha sl 5l Al
X = input (‘enter the number =")
if x>0
disp (' this number is positive ')
elseif x <0
disp (‘this number is negative ")
else
disp(‘this number is equal 0 ")
end
b g2V g Ao jlaall @l sl sl e dda il Jaad) s siad ol cang -; Adaadla
Jsaall d 4aca sl (Logical or Relational Operators ) 4slaidl

- Sull
Operation 4ada 5l Logic Operators
dahiall O alaall

e B <
St ) (e B o
e S S
S sl e S o=
o s __
Sl Y ~:
And 2
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Short-circuit And
(scalars) asé 4u0aal) aall &&

Or |

Short-circuit or
(scalars) Lasé dsaaal) 4l |

Not -

(switch —case) gjsill ddea -2
- e Al Al 5 Ld Jaal) i) A e Tolaie ) zeali syl ys 3y ylay oSaill aadinss
switch variable
case value 1
Statement 1
case value2
Statement 2
case value n
Statement n
otherwise
Statement
end
case &_ke 2 (Value) adll ae Lt jlias fay &5 (variable) ssiall dad sel 5 Y ol zali yall Ty
laxxy statement dlaall 245 o5 value mdll (e ) ae Gakai variable saiell a8 CulS 1
3okl ) Jiiy e gw variable sl dad as value sl (e ) (el Y 135 ¢ 1S
. laaay dleall 2w o g otherwise
. il Glas g J) sha¥) Al Glal MATLAB sk el e €1/ i
clc ; clear ; close all ;
disp (' convert L to centimeters ");
L=input (' Enter the length :")
units= input (* Enter the unit of L :','s");
switch units
case {'inch','in'}
y=L*2.54;
case {'feet','ft'}
y=L*2.54*12;
case {'meter','m'}
y=L*100;
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case {'millimeter',' mm’}
y=L/10;
otherwise

disp(‘'unknown unit’);y=nan
end
display( [ num2str(y) ,'cm']);

>>file_name

convert L to centemeters
Enter the length : 5
Enter the unitof L : m
500 cm

Al Claa 55 I shY el ) s calldall oy ya
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(loops statements ) sl wldls 3
(e e daad el SV (e de sane 28t ) S aadid Jasd) (e de sane (A
Ll Sl s e e 53 e MATLAB gebin (s siag ¢ &l yall
(for ... loops) for <l -1
(while ... condition ) while @~ -2
- Laa Ll Sl dglae 8 28l el sl MATLAB gebion padiay
return s break gl jal -1
.continue L) i) yal -2
- for w1
Aty el oW1 2dE Ol ja damy STl Ay g ¢ B ) je el gV (e Ao gana Ml LIRS
¢ Led Al Aaeall 5 ¢ Baly 3l laie SIS 5 Algil) 5 o) e 4l 2s3 alae
for i=n:k:m

statement(s)
end
BTN
Caladl A -t
Al dlall 4l o n
L daell 3aL 3l Hlasa -0 k
Caall Algidad o m
10 A 1 e dlaey) e @lﬂ\ JEA
Ex:-
S=0;
fori =1:10
S=S+i ;
end
disp (s)

Aol SBY) Aa@ll Y ¢ 1 o daall Baly ) e <l 13 K 8ol 3l ok Jagh -; Adaadle
.1 » MATLAB g

- Al @bl GLaIMATLAB . 2l el i€/ 1l
5000

1) S
s=0 ; n=1
for n=1:5000
s=s+n;
end
disp (s)
sol.

n
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>>file_name
12502500
5000
2) S=) n
n=1
s=0;

for n = 1 : 5000
s=s+n"2,;
end

disp (s)

sol.

>>file_name
41.679

3) =Y =

s=0;
forn=1:5000
s=s+1/n?;
end
disp (s)
sol.
>>file_name
1.6447
Nl ol & e sy MATLAB sl el iiS) / 206

% Program Calculate Factorial Number
n = input (' the number of factorial =) ;
fact=1;
fori=1:n
fact = fact * i ;
disp ([1 fact ])
end
>>file_name

the number of factorial = 8

1 1
2
6
24
120
720 47
5040
40320
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( while ... condition) while <@l .2
- Ll Aalall drpall 5 (3iaia Lo da i alola Baantie O ja el sV Ae gama ) yel il w20
while condition
statement(s)
end
1,15 de¥igsna) 0.5 W jlazasalh s 10 1 e dlae ) c.uag;u&\ EAU‘)._IM / Jlia
. While »aa3ulb(,2,25,3,35,4...10
s=0;
i=1;
while i <= 10
S=s+i;
i=i+ 05;
end
display (s)
sol.
>>file_name
S =
104.500
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A8 &da 2l agle pd sl Bl g e ) e
ol

1- 12422 + 32 +...+ 10002
2-1-13+15-17+1/9-....

3-1/(12.32)+ 1/ (32.52)+ 1/ (52. 72 ) + ...

1)12+224 32+ ...+ 10002
s=0;
for k=1:1000
S=s+k"2;
end
display (s)

zali_yall 28 il

>>file_name
s = 338350

2) 1-1/3+15-U7T+1/9-....

n = input (' input the number =)
for m=1:2:n

sl=s1*-1,;

s2=82+sl/m;

end

display (s2)

>>file_name
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input the number =4

s2 =0.6667
3) 1/(12.32)+1/(32.5%2)+1/(52.7*) + ...
s=0;
m = input (' input the number =") ;
fori=3:2:m
s=s+1/ ((i-2)"2*i"2);
end
disp ([m s])
zeali ) i il

>>file_name

input the number =4
4.0000 0.1111

Q2 ) a) Write MATLAB program to calculate x ,
ax’?+bx+c=0

C
whena=0,x = ——
b
_ —b+Vb2—4ac
Use the quadratic formula Xx = a when a # 0

and a=2,b=-10,c=12

sol.

% This M-file solves the quadratic equation using the quadratic formula
a=2;

b=-10;

c=12,;

% Different cases for a = 0 and otherwise :

if a==0 % ax?+bx+c=0

Xx=-c/b % bx+c=0
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else
X(D)=(-b+sqrt(bn2—4*a*c))/(2*a);
X(2)=(-b-sqrt (b”r"2—-4*a*c))/(2*a);
end

display (x)

>> file_name

X =

3 2

Q2 )b ) The steady-state current | flowing in a circuit that contains a resistance
R=5,capacitance C =10, and inductance L=4 in series is given by

E
| =

2 _ 2
\/R +(2nwL anc)

where E =2 and ®=2 are the input voltage and angular frequency respectively.
Compute the value of I. (Answer: 0.0396)

|=E/sqrt(R"2+ (2 *pi*w*L-1/(2*pi*w*C))"2)
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Jamping statements J&l Jex (4

Breaking out of loops J1sill Jaa (e g osad (1

& s for LSS Ols ¢ BhlA gl lagaia byl moay s Jeall & i while J)USS ()
SSaal s AN ) Al s b a8 (€05 ¢ 4l aaaad 3l el sae gy s Jesl
pXig ¢ return sl break eV alaaiul WiSey Aladl s (b5 ¢ el Ja ) Sl (4
-l Jeal

for / while
statement(s)
if condition
break

end

end

ex:-

clc ; clear ; close all ;
for m=1:10

36 Gadll a1 10 — 1 (e 332 Y aje adal / Jlie

if (m”~2)>= 36
break ;

end clc ; clear ; close all ;
display (m) ; m=1;

end while m< 10

sol. if (m~2)>=36
>>file_name break ;

m = end

1 display (m) ;

m = m=m+1;

2 end

while loop alasiul Al 5
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A Aa )

s agle aud

g3aal) Jolaill s dina ol i

continue 4as (2

dda g piiall &y ) Sl Aslal) o for loop 4wulsall daladl Jads & continue <Y aodiuy
83 g2 gall (Aama )l Jaadl) el gV AL 288 jladg e M) ) sl L3 while loop
axiing o end Ales aladiuly deadiil) A8l Al Y a5 5 cONtinue e (e Aol

for / while
statement(s)
if condition
continue
end

end

ex:-
clc ; clear ; close all ;
for n=1:10
if rem(n,2)~=0
continue ;
end
display (n);
end
sol.
>>file_name
n =
2
n =
4
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try — catch (&ba (5

Badl (o Al cUad¥l dallas 8 exception sLiiny) 45 ;b MATLAB gl s padivg
3 pall addiud ‘“f“!\j try — catch (3lia alaainly G_AUJ.A\ D oL aa0al) Lt & ol

try
commandsl
catch
commands2
end

_- gl

8 led e & gaa Jldial aa gy 30 commandsl el sV g qaias i 5 sucall 028
5 s cOMMandsl <l sY) 3 ) end dlea )3 pdle Jiiy Und Giasy ol 138 try dlea
catch dea N JEsY! 218 commandsl el sY) dsu 8 Uas chas 13) oS ¢ (Al
Guinl Und 3 ga g a5 Al S padid) U8 (e iS5 Sl 5 commands2 el ) il

Ex:-
clc ; clear ; close all ;

daaal) ol el el 12a G gas

a = input ('Enter first matrix :');
b = input (Enter second matrix :');

try
c=a*b;
catch
c=NaN;

disp (' wrong dimensions for matrices multiply ');

end
display (c);
sol.
>>file_name

Enter first matrix : [13;24]
Enter second matrix : [57 ;6 8]

c=
23 31
34 46

Z\JJUS‘MM\&J)MJJQeaé}y‘&)w\om‘dlcéjm;ﬁju#)w\uﬁu

>>file_name

.b
-2 A gl (8 shmall jealic JWA) g geali ) 34
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Enter first matrix : 2 * ones (2, 4)
Enter second matrix : magic ( 3)
wrong dimentions for matrices multiply
C =

NaN

el ¥ A Uad Gigan e Jay Las catCh Alen Lgraa®i Al al g¥) 385 syl () JaaY
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M <ldla J)ga
M — File Function
lile 8 4 s dama ) Jaall o) el ¥ (e Ao sana 8 JVsall -; function J) gl
) el il Ll g e ey Saee and Ll g Ama Adda g a5 aadiud Sl g M — File
oAkl el ¥ (e de sana

function types : Jigall g1 63
bl Ay e 5 3alall IS0 ) sall e i e MATLAB el s sisy .1
Jia 3 e JS (A JIsall 024 Ay 5l AUS (0 Yoy MATLAB Built in Function
sum, prod , mean, inv , det, size, length , round , fix , rem, angle ,

. MATLAB 7t (8 Gase Lgiaa o3 (AN JIsall e W e 5 @S
el Aapay iS5 User — Defined Function sasiwadl Jié oo Waeliil ab Jiga 2
. (M —File Function) M <léle JJ s dae ) (e g 51l 18 ass s MATLAB
5 5alall 10 ) gall ASa 1) La el any J)sall o3a izt o
Leitals g s Ll daranaty aadusall 8 (e Ledansi 2 5 « (MATLAB Built in Function )
- Sl JSAIL function daay gl ) 4US Sy ¢

)

function [ list of output variables ] = function_name (list of input variables)
function (o/p) = function_name(i/p)

OR

function function_name (list of input variables)
function function_name(i/p)

-: (M = File Function) M <lila J) g3 £L&i) g drand Ja gy

. el 8 LS o3l A ) iy i) ) ansy -1

- function YU lay o) s el (e Y1 sland) 22

 MATLAB gl s (& &l paiiall dansi a5 Al and) oy -3

bl 8 deasiuedl) ol il elaw dgdlia eland cpa A1) and aladinl §sas¥ -4

- (script ) dxaill daaully (function ) J) sl Aaan ¢ (34N

8 _pdlie el ll law - seript ) el Wi function e¥U faw J)sall geas -1

& Lt Al sl e RNy il jal oy ja5 function dIsall geli AU il -2
el L ZUsaY seript sl dss )

Al dpaill daa pll A L OIAN a8 it o2l die function J)sall maeli p (8 aakaind -3
- <llb (S seript
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script J & Wiw workspace ) 813y function I Jaly s Sl &l yasidl 4
. (local variable) 4aulss &l juatia caudi g « Workspace ) 8 dadas
-: (nargout .nargin )Jsall cila il g coldial) due 48 pa

S IS AN 2 Aeadisal) (Gl piall ) i lelaall 232 48 el nargin oY) adiieg
a = nargin (' function_name ')
ex :-
a = nargin (‘sum’)
a=
3

Alall s3] Ala AaS daadinall () juaiall ) GBlalaall 22e 48 el nargout Y aadion g
- Sl Jsaln

a = nargout (' function_name ")
ex :-

a =nargout ('sum")

a=

1
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-0 ALY amy

( Quadratic equation ) _siwall 43y ylay 4300 Aa jall (e Aalae Jag el o iiS) -] Ja

Function M-file slaaiuby

(—bi\/bz—4ac
b?> —4ac >0
2a
x:
{ b b2 — 4ac =0
P ac =

( the root is complex ) skl aadal jiia (je 8 3l i dad IS 1A
Sol.
function quadratic_equation (a, b, c)
delta=b"2-4*a*c
if delta>0
xl=(-b+sqrt(delta))/(2*a)
x2=(-b-sgrt(delta))/(2*a)
elseif delta < 0
disp (' the root is complex ‘)
else
x12=(-b/(2*a))
end

zeali_yall 2,08 il

>> quadratic_equation (4,6, 2)
delta =
4
x1=
-0.5000
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-1
.C, b ace IS Al al mali pall 25 ¢ Qllall oy ya

abi_ll Ldans ad S s (e (oalaal) Aal) sy MATLAB 3als el s €I -: 2 Jlia
. Function M-file alaaiuly

Sol.
function maxl(a,b,c)
if a>b
max = a;

if ¢ > max

max = C ;

end
else
max = b ;

if ¢ > max

max = C ;

end
end
max

bl ansl ae asill JLa) ae eali yall ) (S el ) il

>>max1(10,2,18)
max =
18

d\ﬂ\o&@&ﬁ\#d}d\‘dwww
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bl as) s da Ly 5 JaY MATLAB il el (iiS) - 3 Jie

Sol .
function n=test_number(a)
if mod (a,2)==
n="even no.';
else
n="odd no.';
end
=t O sil) G e olae ) pa el yall sl (EES) ¢ gl yall ]
>> test number ( 4 )
even no.
Ce Al JAa cllall gy
adl g pae s MATLAB el gl e i€ -: 4 Jla
Sol.

function ¢ =fact(n)

v=1;

—r 4l g daall dag dlag) o sllaall sasll da cUac ] aa alill auld CIES) ¢ pmali ol gdil
>> fact (10)
V=

3628800
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A al daa) ¢ Qllall o
e Y ol s JLelsY MATLAB 4ab g s i€l - 5 Ui
Sol.
function production ( num)
if length (num)~=1 | ~isnumeric ( num)

disp (' error : please enter one number ‘)

else

for i=1:10

disp ([ num2str (num),'x "', num2str (i),'=", num2str (num*i)])
end

end

¢ dgae G ad gl aal g paie ul ga JAA a8 I S el ) Gasdy -] - 3daaDl
'@\Mdﬁd\em M@Mﬂ\ﬁ)@d\@kﬂé

(n praie S Jisad g galic 5 (e 435S A shias ol e disp oY) deny -2
5ol (e A 5 A8 shina aladinl (K | (string Aads Al ) (e geal ) s jalic
-LQA;)X?LBJ\j\&h}]ujﬁu\aﬂ}w\u)ﬁu\&_\;ﬂcu});

[ num2str (num) , "x"', num2str (i),'=", num2str (num*i) ]
ex :- 1 X 1 = 1
Crsia (e 8 G @8 1) JA3) s command window ) (8 Al sl (i€) el ) duéwl

>> production([12 5])
error : please enter one number
>>production('g’)
error : please enter one number
4 s Aludis 51 48 ghime Gl 5 aal 5 &8 ) JBal g
>> production(12)
12x1=12
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g3aal) Jolaill s dina ol i

12x2=24
12x3=36
12 x4 =48
12 x5 =60
12x6=72
12x7=84
12x8=96
12 x 9 =108
12 x10=120
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cilgaial) g cild shuanll
MATRICES AND VECTORS
: MATLAB gl » 8 Slgaiall Jial 3k
p bl jdlud) JAY)
- SJUIS row vector asdall Gleatiall A clilall Jial &4

>>a=[12345]

a=

1 2 3 4 5
Or
>>a=[1,2,3,4,5]

a=

1 2 3 4 5
- QU Gl Jial S5 ¢ column vector 4 sesd) cilgaidl L

>> b=[1;2;3;4;5] OR >> b=[1«
b= 2

3«
Ja
5]
b=

v A WO N -

u b WN -

- alilall Jalall e SV 2
JAsY row vector diall cileaidl & (1 )colon notation iaebatiall okl aadiug
Name of array=first value:increment:last value
- Al ABaY) Taa | Al Aagdll o5 a3 laia o3 A 5V Aall AUS, fan
130 Jl8as 100 @ ity 1 o faw ua 4sia olISY
>>3a=1:100 or >>a=1:1:100 or >>a=(1:100) ‘
253050 )laies 100 @ eeins 1 2 lay (hia dade (LAY

>>a=1:2:100
-1 =8l Hlatay g 1o (685 100 @ oy 4nde LAY

>>a=100:-1:1

LY ALl 44 lall il aladinl Sy 43 columin vector 4 seall cileaiall Ll Wl
dadle aladiul row vector transpose (siall aniall Jas slag) caag (K15 Lbeall cilgaial)

A JEa Ay | Ao e J geasd) ) jall 4aiall il 223 (1 )apostrophe Lixdl Alalal)
>> x=1:5
X =
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40 Al yal) sl agle aud auad) Jlaill g Ao pll yida

1 2 3 4 5

>>x!'

ans =
1
2
3
4
5

: clgadal) o sl oSy (Al Glleadl
: Aadal) palis slediul-:Y )

ool Y1 alasiul 21 Matlab 4 3 (52 geall [ auall 4niall jualic (1o 3al5 jaic aal
(1) ol Gpuiladil) a2t Bas) 98 ghad (8 pualiall (e de gane paailg 3 praall
el Judud 25 a0 8 &3 daiall sl IS5 Enae X(firstiincrement:last) 4xall

- 4\:\313}\ aliay! QA (X ‘):\;‘2” =]l M} 3 33\73‘}]\ ‘)\Jiejc dj‘)ﬂ

>>x=[1;2;3;4;5;6;6;7;8;9;10];

>>x(1)
ans=
1

>>X(5)
ans=
5

>>x(1:5)
ans =

O b owpN -

>>x(end)
ans=
10

>>x(end-1)
ans=
9

>>X(6:10)
ans=

X 4adal) (e J5¥) paiadl eledin) -]

X Aaiall (s (ualdd) paial) gloaiud -2

Gualdl) painl) ) Jg¥) paiadl (ha sl pualind] gl diud -3

X 4aiall B gAY jaiall slediul -4

X 4adall A LAY) S8 L aind) sleding -5

silad) paially Al g Gudbd) paiad) e dglly pualind) slediul -6
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6
7
8
9
10

2 3Ly i) painll A J ¥ paiall ple sl -7
>>x(1:2:6)
ans =
1
3
5
2- ey J ¥ painll A Guidlid) painl) slediud -8
>>x(6:-2:1)
ans =

6
4
2

X 4aiall dulgd A 7 (e gualindl plesicd -9

>>x(7:end)
ans =

O 00

|

0

Baal g 5 shady Leduludti b il ¥ Al palie clediud =10
>>x([82 9 1))
ans =

= O N 0o

s dadiall J) Laa pais Adl) - LG
235 4aal) ) BSOS e IS (Kd (g2 panll ) ol dniall i jemic ALY
o LS aarial) A 51 slasl) Aadle o (g yiam (s 8 (O 4B8La) 2yl jainll Jualiss

O | B N
>>x=[12345678910]
X =
1 2 3 4 5 6 7 8 9 10
>>x(11)=11
X =

1 2 3 4 5 6 7 8 9 10 11
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i il iy (o g 43l (X(13) eaaiad) ) piile N Judecl) Hlos) Al 8 TaaY
s QU JUal) aay jaeall M A sbae X(13) 5 X(11) O &8 A 532 52 sl
>>x(13)=8
X =
1 2 3 4 5 6 7 8 9 10 11 0 8
>>X(4)=8
1 2 3 8 5 6 7 8 9 10 11 0 8
s da) g Aadia B agadia s WG
¢ Al Argeal) lain) (Ka a5 dnia b s gae ) ia (eaie ged
Name of new vector=[ name of first vector name of the second vector]
>>a=[1357]
a=
1 3 5 7
>>h=[9 10]
b=
9 10
>>c=[a b]
c=
1 3 5 7 9 10
: Cilgadiall i}al.b 349/#39 hdas by
Gailal) peaiall Cidal ¢l JaIL 5 Cadal) dlae 3 [ ] Amaall Gal 831 a2ii

_ad\ﬁjs..a.d\
>>a=[12345678910]
a=
1 2 3 4 5 6 7 8 9 10
>>a(10)=] ]
a=

1 2 3 4 5 6 7 8 9
(lad) ) Gudladl peaial) (e Dia) jualiall (o 4lEie de gane idal o
>>a=[1234567 89 10]
a=
1 2 3 4 5 6 7 8 9 10
>>a(6:10)=[ ]
a=
1 2 3 4 5
-2 SUM_<Y) alddiuly dadall jalic zaa Jala dag)-: el
>>v=[4532]
V=
4 5 3 2
>> vi=sum(v)
vl=
14
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-2 prod ¥ aladiuly 4xiall jalis opa Juala alagl-: Lualu
>> v2=prod(v)
V2 =
120

—: maxadiall aladicly dadall B S i) dlag)-; bl
>>a=[125 8 11]
a=
1 2 5 8 11
>> al=max(a)

al =
11
S MINAIA aladiuls dadall B e paisd) slag)-: Ll
>> a2=min(a)
a2 =
1

MATLAB gt 2 MATRIX <ildsiaall JUa) 3k

COIUMNS 53021 5 FOWS s IS e S5 Apsaal pll) 6 Y1 (o i yain o 2 s

A1 Q2. Qqp
dz1 QA2 ... Qg
Am1  Amz2 -+ Omn mxn

bl 22e n ¢ agiiall e Jlam dus
—1 Al JSAIL g6 43 sandl o) Lbiall Cilgaiall JLaaY 5 58lual) 43y Hhall aaiins 48 sheae JASY
>>a=[123;456;789]

Or
>>a=[1,2,3;4,5,6;7,8,9]
Or
>>a=[1 2 3¢
4564
789]
a=

1 2 3
4 5 6
7 8 9

67




AUl A jal) sl agle aud auad) Jlaill g Ao pll yida
: Cld ghuaall Jo Wl ) oSas Al cillaadl
: A8 ghaal) yalic (e (ra pals slediud ¥
;QN\JM\L;Y.M\W)B\&MQJM\MJ@A\

>>a=[123;456;789]
a=

~N AP
o Ul N
© o w

s Calll) 3 ganl) (o (AEN Ciuall B juaindl sledid o
>>a(2,3)
ans =
6
4oy 4d ghuaall (e 4y ja 4 ghuaa sLA) 48 shaal) jalic ad (e dlaa 4s gana Jaaile
s Al dipal) axdind
(start row: step : end row ,start column : step : end column)

s shall sl <—l \—> sy sl

S 3 gandl g AN 5 I 5Y) Chuall s 2 i g 46 stuaall (e b Bada 48 i oLEY ¢ Jlie

Sl 4
>> Pp=3(1:2:3,2:3)
b=
2 3
8 9

oY) Agandl s g SN 3 gandl (e o la0) Baas ) paan g Gl g AU Chall slo i o
>>c=a(2:3,3:-1:1)

c=
6 5 4
9 8 7
s2eeY) maen 5 G Ciall 30ail; BaaeY) gpan SIS @
>> d=a(2,)
d=
4 5 6
SB S g J Y gardl (e 1288 Baee V) Ll o siiall area o) il phaal) asan JLIA) o
>> e=a(;,1:2)
e=
1 2
4 5
7 8
Baas Yl g i sall anan LA @
>>f=a(:,’)
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f=
1 2 3
4 5 6
7 89
JAY) 2 ganl) e i gial) aran JLTA) o
>> g=a(:,end)
g:
3
6
9
BaasY) anan g Y Ciall JLid) o
>> h=a(end,:)
h=
7 8 9
: Ad ghaal) palic | J) jais ddl)-: Wil
A 48 ghmall palic ) jeaic diLaY
>> a=[1 23
256
789]
1 2 3
4 5 6
7 8 9

2l 23] Qe o5 88 shemall sl 35 ual i) 3 panlly ) Caall 20 80 ALY e
USLA‘GEJL&AY‘QJMLAYJM\MHB\}M\&A)\Q}& LI awﬁ%&yuu\
33 A Ll ol ) Slae V)

>>a(3,5)=20

a=

1 2 3 0 0
4 5 6 0 0
7 8 9 0 20

@V dseall palic 111113, 15 AU,Y) ddlal Sie 48 siadll I jalic 520 ALl o
>>a=[12 3;45 6;7 8 9]

a=
1 2 3
4 5 6
7 8 9

>>a(;,4)=[11 13 15]
a=
1 2 3 11
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4 5 6 13
7 9 8 15
- Al g 48 siiaall § o palic ad 3 gec ALY ¢ Chgiiall JS1g 0 gac Adlal @
>>3=[153;297]
a=
1 5 3
2 9 7
>>a(:,end+1)=5
Or

s oA adky 4B ghuaal) yalie (e pualic 5 o) puals ad Jlagil-; Gl
3 yaadl g N Caall b 3 g gal) umaial) Jhasind) ; b sheadll i juaic dad w3 o
s Aagily 051

>>h=[1372;3461;7984]

1 3 7 2
3 4 6 1
7 9 8 4

>b(3,1)=0

5 1 sl lonsen Cillll Cuall 4 Jaal ; ALy i alf juai @

11—‘%}““%@&‘3}*’1\#@4‘&4}‘5&3% °
>>p=[1372;3461;7984]
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1 11
3 11
7 11 8

o
PPN

:(Adas8iall 3 el maia g ) B JA) 4y alalSy 3 gae ad il @

1 11 7 2

3 11 6 1

7 11 8 4
>>p(:,3)=[4;5;77]
b=

1 11 4 2

3 11 5 1

7 11 77 4

£ 10 2221l J5¥) Caall b (AU () 50) G 5 J sV ad sanll 8 Cpaaall Jlasid @

>>c=[137;246;789]
c=

~N N
o~ w
© o~

>>c(1,[1 3])=10
c=
10

2
7

3 10
4
8

O o

0 10 222l Cosiall ead (SUI G 93) G 5 J g¥) (d gaal) & dlac V) Jlasiul @
>>c=[137;246;789]
c=

1
2
7

oo b~ W
O o~

>>c(:,[1 3])=10

c=

10 3 10

10 4 10

10 8 10

Aaglly UGN ) O 5V (e 121000 (03 sanll g CAEN I J5Y1 e 120000 il 8 jusliall Jlasin) o
Sha

>>p(1:3,1:2)=0

b=

00 4 2
00 5 1
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0077 4
o[ T A pall (ol 98N aladialy cld ghiaal) (o palic Bis g pals Cada -; laylg

>>ph=[1372:34617984]

b=
1 3 7 2
3 4 6 1
7 9 8 4
>>b(1,1)=[]

77?7 Indexed empty matrix assignment is not allowed.
(G 3 genll Cida Mia) JalS 2 g0e 5 JalS Ciim Cilda Sy
>>b(:,3)=I]

: (size )( 48 sicanll aan) 48 ghaal) May) 48 e -3 Luald

>>a=[1234:5678]

a=

1 2 3 4

5 6 7 8
>>size(a)
ans =

2 4
V'
8 giuall 22c Blac Yl 22e
>>size(a,l) Ladh (o saiall ac 48 yal
ans =
2

>>size(a,2) Jadé 3aac Wl 22 48 yaal
ans =

4

tlenqth se¥) alaiiudy ¢ 48 shuaal) b HS¥) Aaial J ohs &l -; Lusslus

>>(0=[12;34;56]
q =
1 2
3 4
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5 6
>>size(q)
ans =

3 2
>>|ength(q)
ans =

3

(1) Ofitalatiall ouihdil) addicd cda) g dgas JSEy Ab ghuaall ualic JS LB -: lola
>>q(2)
ans =

1

3

5

2

4

6

‘numel e alddicly Gl g « Ad ghuaal) palic dao 48 mal -; Ll

>>numel(q)
ans =

6
Or
>>length(q(:))
ans =

6

C pusall o) (Aua N g gand) daiall Jgal! ) BaeeY) U dighal) sualic Jladial-: laul
- 48 ghaal) o) dag (1) B3 ke (uliB) dade puda gs Slld g

>>a=[123;456;789]

a=
1 2 3
4 5 6
7 8 9

>>3'

ans =

1 4 7

3 5 8

2 6 9

: 48 ghuaall uwi ) Y jualic slad)-:10
L U gl e 48 shemall i U Ll jalic slaY diag Al 2030 e
>>a=[123;456;789]
a=

1 2 3
4 5 6
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7 8 9
>> p=diag(a)
b=

1

5

9

JSEML Baal gl ddghaall palic aaal sum Y Aty ddghaal) jalic aaa (11
A

>>a=[1234;4567;78910]
a=

4

7

~N D e
o U N
© o w

10
>> s1=sum(a) e JS 48 siaall 3aac) palic ad as Juals )
REN
sl =
12 15 18 21
or
>> s1=sum(a,l) o e Jpanll 46 45, )l
dail)
sl =
12 15 18 21
>> 52=5um(a,2)s> Ao JS 48 shaall Cagiia palic ad xas Juals )
S2 =
10
22
34
>> s3=sum(sum(a)) s salic arex pas Juals sl
44 siadll
s3 =
66
or
>> s3=sum(a(:))
s3 =
66
48 ghaall awi ) il joalie gen duals s o
>> pl=sum(diag(a))
bl= 15
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_:&M‘ﬁuﬁﬁégﬂ&ahdw‘—lz

Qe aly Cusy 48 ghiadll palic ad o jpal producti\..dﬁ_)l.mzs\ 2 prod Al a2t
La¥ | e daie JG el g 8aa e JS A8 siadl) Base) e agee JS jualic
- adll) Ay

>>a=[123:456:789]

rOd(a) dda ‘;r. dS :\AM\ dac | _)m\_\.c 2 pa d...al; JlA.J‘

28 80 162
or
>> pl=prod(a,1) Al Aol s e J paall 400543, )l
pl=
28 80 162
>> p2=prod(a,2) e JS 48 siadll s ghia palic G pa Juals Al
3aa

p2 =

120
504
>> p3=prod(prod(a)) 4 siadl jualic as @ duala alay
p3 =
362880
or
>> p3=prod(a(’)) Al Al s e samnl] 35 3 51
p3 =
362880
48 shmall ot N Bl jealic i Juals sy
>> p2=prod(diag(a))
b2 =
45

—: ddghaall L& ,SY) palel) Mgl -13

Cumydaa e JS A8 ghiadli aac) e dsee (S jualial V) jaiall dlay¥ max Aol aasius

s AUl ABY) LAY (dgee IS (e SV 68 ) 4) Jdia e @ () S
>>a=[123;456;789]
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a:
1 2 3
4 5 6
7 8 9

>>ml=max(a) dsad dsiaa Jo K 2 JKHEY) paiall dad dayy
ml =

7 8 9
or
>> mil=max(a,[],1) Aglall Aol st e J paall 406 45 Hla
ml =

7 8 9

>> m2=max(a,[],2) 48 siadll Bdaa o S Ca 5V paiall dad Ay
m2 =
3
6
9
>> m3=max(max(a)) 48 sinall palic anead HSY) paiall dad AV
m3 =
9
or
>> m3=max(a(’)) ALl Aaml) st e J peanll 2906 44, )l
m3 =
9
- A8 ghuaal) A& ruaY) jalnll Al -14
e dgae I jpal¥) paiall eyl & (minimum 4l jLaidl ca ) min Al aadies
(Asee S m a8 )l 4) cdia dnde Ul () SH Cung Bas e JS 48 siiadll Baac )

- ) ALiey) JaaY
>>a=[123;456;789]
a =

1 2 3

4 5 6

7 8 9
>> nl=min(a) o o I8 agee K ppa¥l paiall dad Ay
38 siadll
nl=

1 2 3
or
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>>n1=min(a,[].1) Al e J pomall s 33,
ALl
nl=
1 2 3
>> n2=min(a,[],2) S e Scaa I pall jaiall dad Y
4 siiadll
n2 =
1
4
7
>> n3=min(min(a)) A adl jalic aeal jpal¥l jaiell dad Aoy
n3 =
1

or
>> n4=min(a(:)) ALl dartll i e J geanll A0l 48
n4 =
1
s daldl) cild giaall
& sbe Lo giuall dae Led )5Sy Sl A8 siad) a5 -:Square Matrix 4 sall 48 saal) |

e Y] daal
>>a=[123;456;7 8 9]
a:
1 2 3
4 5 6
7 8 9

Dlhal e la jualic ad ares g sind Al 4 giiadll a5 -:Zero Matrixdiuall 48 siuaall |
s Al sl zeros Alall aladiuls L gLl (Say g

z=zeros(m,n) or z=zeros([m n])
o3l e N ¢ o giiall dae mcl'\éjé‘ad\e“\z&p
dapall aladiul (Sad (Baee Y 2o (5 slun Cosdiall 2ac) Axy e 4y jha Ad lias e J paall
—; Aadul) ABeY) 8 dsua gall 5 ¢ z=zeros(n) Al

>>zeros(3,4)

ans =
0O 0 0 O
0O 0 0 O
0O 0 0 O
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>>7eros(3)
ans =
0 0 O
0 0 O
0 0 O

e b jalic ad a5 gind il 48 hiadl a5 -:Ones Matrix dpaaY) 4b giaall |3
: o) (e LS onies Alall alasiuly La 5Ll (Say g ¢ sl aal gl
O=ones(m,n) or O=ones([m n])
. BaacYl 2e n ¢ giall 2 M dd ghiadll anl O Eus
aladiul (Sad (3aee Yl axe (5 g Chghuall 230) dxy e dgalal 48 shias o J saanll Lol 1)
-; Adull ABeY) 8 daua gall 5 ¢ O=0nes(n) 4l dapall

>>0nes(3,4)

ans =
1 1 1 1
1 1 1 1
1 1 1 1
>>0nes(2)
ans =

1 1

1 1

Jiay a5 08,0l 5 1 0 aill (e O sS5 4d shian 4 5 -: Identity Matrix 3laall 48 siaall 4
eye Alall a2d50s Gl il

e=eye(m,n) or e=eye([m n])
cde ) dae ¢ s giall dae me dd shaal) anl @ Cus
pladiul (Said (BaeeY) 2o (5 gl Cosiiall 2ae) day ye Balas Ad ghias e J pand) L ) 1)
-+ aalul) atiay) & 4 sall 5 < e=eye(n) i) deuall

>>eye(2,3)
ans =

1 0 O
0 1 0
>>eye(2)

ans =

1 0

0 1
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Bas 4l sie W palic o ddsiae a5 -:Random Matrix dgi) gdall addl) 48 ghuaa 5
JEal 3 LS d el il (3010 (5 soamna La_yualic o (585 5 rand A1) alasiol L 5Ll
;‘;JL"J\

r=rand(m,n) or r=rand([m n])
3Vl e N ¢ giall 2o M Ad shiadll anl 1 Cua
CSadd (Baac Yl 22 (5 sbun (o giiall 2ae) Aay pe A gilic 48 shian e J sl Lo )l 1)
—; adul) ABeY) A daa gall 5« r=rand(n) AU drsall aladsu)
>>rand(2,3)
ans =
0.8913 0.4565 0.8214
0.7621 0.0185 0.4447
>>rand(2)
ans =
0.6154 0.9218
0.7919 0.7382

o5 ¢ lsdie (S dry ye A8 san ZLY aadiud - Magic Matrix 4awd) 48 giadl |6
ralic & sana (s s gac JS palic aiie sena s a S jualic e gana () ) e
M\@L‘SMM\dJL@)‘U:“}C-‘A‘A\h\JMU:"WJ}‘AMLG-‘“BU}S"}L;“%’)MJM‘

: Al

M=magic(n)

eVl 2e n ¢ Ggiiall 2 M dd shiaddl anl M Cua
>> M=magic(3)
M

»~ w oo i
o o1 -
N N O
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L0 Aa al) sl agle and aaad) Julaill g dae ) yiida
il ghuaal) o L) dadaly I cililaadl

O shian G gAY Gllaall (an 5 (Aandiz jlac e pan ) Gllee ¢l al (8 el J8
3aec Y 220 (udi g M B stuall 2o (s (138 shiaall () 58 OV MATLAB gl s b iy (poae
8oke O sSi ( saal) g dleall 230 ) Lale scalar 82 5ie Apaae dad Ladaal (55 o) 5l

A B 0l siadll Lo s aiu Al Gllaall s | (M*n) slal) G L 48 shian oo

>> A=[2 4,6 8;10 12] >>B=[13;57;911]

A= B=
2 4 1 3
6 8 5 7
10 12 9 11

>> D=[2 468 10]

D=
2 4 6 8 10
>>E=[13579]
E=
1 3 5 7 9

-:_cilgadiall g il shuaall ~ phall g gaad) diles |1
uﬁb)kl—\.}‘.ﬁéﬁAaﬁMde\JM‘&JJY\M‘@M‘@M&A&A\W#
3 sicaall o il L pe e A 48 siaall S 2 sanll (30 J W) il i yuaiall 5 B b sioal
DJLLA&LA@DQAMJJY\)M‘@AJ#L@EHM\@ALA\MM\M‘&‘}B

okl Al G | 13K 5 FS sadll b

>> C=A+B >> C=A-B
C = C =
3 7 1 1
11 15
1 1
19 23
1 1
>> F=D+E >>F=D-E
F= =

3 7 11 15 19 1 1 1 1 1
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palic e paie JS 5ol Gl G G sS08 48 siiaa g 2o G = Hhall gl geald) dulee CulS 1 L
Al ALaY) LAY ¢ 48 siall

>>h=[8 1 6:3 5 7:4 9 2]

b=
8 1 6
3 5 7
4 9 2
>>c=b-3
C=
5 -2 3
0 2 4
| 6 -1
P=9*pb+3 ;Ao sl il aa /JUa
((Clleall dadin) Ble) jo cang)*
>>p=9*b+3

75 12 57
30 48 66
39 84 21
Gl 1A ¢ s b o shiaal) pan U s /b

[8 1 6]
c=b-3 , b= 13 5 7
4 9 2
>>ph=[8 1 6:;3 5 7;4 9 2]
b=

8 1 6

3 5 7

4 9 2
>>c=Db-3
c=

5 -2 3

0 2 4

1 6 -1
>>a=b+c
a=

13 -1 9
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3 7 11

5 15 1
OSN3 *p—2* ¢ Al dalaad) &3l 2a /Sl

8 1 6
b= [3 5 7],c=b3
4 9 2
>>h =[816;357;4 92]

b=

clgaiall g cld shuaall @ pua 2

;i i Hlall saaly o puall lee S5 -p il ghiaall G pida 2 Y )
48 simall 8 Ll Lo go 5V 48 shadll jualic (e jeaie IS pa dh: JAg¥) 48kl (A
e A plilaie Laa jualic g ol jall (488 sdiadll (585 O g (J Y12 Gailla 28 450
. scalar 53 ie 4330 e (i saall (aa) 4S5 G LA 5 3aee V) 5 Cosaall
40U ALY JaaY (%) el Aadle Jd Dot( . ) Adaiill Aedle dilialy ilenl) o2 (3Ea
>>c=[6-2 3;02 4;1 6 -1]

C:

5 -2 3

0 2 4

1 6 -1

>>pb=[8 1 6;3 57,49 2]
b=
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8 6
3 7
4 2
b

+ © 01

>> C,
ans =
40 -2 18
0 10 28
4 54 -2
>> W=2.*C

10 -4 6
0 4 8
2 12 -2

sl e (558 () b Laga i Ja pde (i shma o an dlee 6] ) die 40N 43y k1) (B
Sl eslic s puing oyl Aglae T ¢ A0l A shacaall (i shan 3381 5 slaso 1 5Y) i shanal
inl it pand) o A A il (yo S5V 3 senll ealic ae VoY) & shaadd) e 5]
ealial) Al il Jlal) U3 5 53301 2 sieaal) o ( J5¥1 3 pandl 5 S5Vl ) J V)
)OS Y, 5 AY)

- QBsdas b ya o) gl

ai1 Qg Qg3 byy b1y bi3
a=10qaz1 QAzx A3 ) b=|by1 byy by3

31 dzz dAzz b31 b32 b33
a*b=

a1 * by1 + ay3 * byg + ag3 * by
Ap1 * byg + app * byy + ap3 * b3y
A3 * byg + a3y * byy + azz * b3y

5 -2
a= lO 2
1 6
>>a=[6 -2 3,0 2 4;1
a=
5 -2 3

aq1 * b1y + ay3 * byy + a3 * by
Ay * b1y + App * byy + ap3 * b3y
@31 * biy + a3p * byy + azz * b3y

a*h o siadl o pa duala aa [ Jla

3 8 1 6
4],b=l3 5 7]

-1 4 9 2

6 -1]
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A1 * by + ay5 * byz + aq3 *
Ap1 * byz + App * byz + ap3 #
A3q1 * byz + A3y * byz + a3z *
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0 2 4
1 6 -1
>>pb=[8 1 6;3 57,49 2]
b=
8 1 6
3 5 7
4 9 2
>>a* Db
ans =
46 22 22
22 46 22
22 22 46

D Cll) Gy Hlall aaly el Alee o5 clgadiall G ¢ LU

Ceaiall ()5S o) da i (md sae Oseaia sl Gnbea Oneatie e Alla 8- A 9Y) 4G k) (A
“dle d._(éDot(_)&U:Bﬂ\ dalia) Can Aolend) 2080 gealan¥) 22e i Laad palic O a3l
.l
meu@u}%u\hﬁddwﬁh@m@uﬁﬁbuﬁ_@m\@#‘(B

>>x=[1 357 9]

X:

1 3 5 7 9
>>y=[246 8 10]

y:

2 4 6 8 10
>> 7=X.*y

7=

2 12 30 56 90

>>x=[13579]

X =

1 3 5 7 9
>>y=[2; 4, 6, 8; 10]
y:

2

4
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6
8
10
>> 7=xX*y

190
AL O oS Andi (& paie JS pa Juala Y ¢ 3x4 Waley) 4 sieas Jiad x il 1)

R il
>>x=[8 1 6 1,3 5 7 54 9 2 6]
X:

8 1 6 1

3 5 7 5

4 9 2 6
>> X N2
ans =

64 1 36 1

9 25 49 25

16 81 4 36

Y Gishall yualic sae oY ool JU) 8 4 shiadll ad ) g) XA2 aladiul (Say V-rABadla
e (A 4 gluie 48 gaiaall il ) L) X e Y X, a0dTudg ¢ e Y) palic e (g gl
O3 Gl 48 jh ddaadle pe ddadill Alal 90 e XA2 alaiind (Sad 3aec V) 5 (o giiall

;SN JUL sy Dot( L) I alasiad

>>x=[8 1 6,3 5 7;4 9 2]
X:

><>4>oooo
N

© U1~
N ~N O

>>
ans =
91 67 67
67 91 67
67 67 91
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AU dds sl s agle aud @) Jalatll g A ) jiiiia
cilgatal) g ild ghaall daud -3

scalar 52k 4p00c dad Laalaal (5S35 O 5l (amy yo LS 1) (358 gdime (g dasdll ¢ ja) (S
plasiul Sy LeSe Cppadl) (A sl (g0 Al dplae o) ja¥ slash (M) ") el elld 0 S5 ¢
(Bl o el dad) ) I Gaad) (e densdl) dlace <) 2 Y backslash (/")
Dot (. ) adaill alaainly lld (5 Sy 5 : Alily La pa paaie JS 8 pilaa (i shiaa pualic daud (A
>>a=[4 6 ;8 10]

a:

4 6

8 10
>> pb=[2 3;4 5]
b=

2 3

4 5
>>c=a./b
C:

2 2

2 2

Cslia 0 A ghadl (pn Jiai b o € 48 sheadl) dand Slia s g A o 48 ghuas daud (B
pladind ase Ba¥) sasls3as S b siiadll o 3aal g 3aa S g 4 shadll dad Alee STi5 b
dot( . ) 4kl

>c=alb
c=
2 0
0 2
QL@A.:\AS\M
Laalaal (0 5S5 o) paliall dae 8 (i gludie Cpeadall ¢ oo 0 aag ¢ Gilgadiall dand dalac o) oY
. B3 yia 4020 d4ad )2
- Sl JEall BaaY dot (L) Adail] alasinly Sy aie o paic daud(A
>>a=[12 34]
a=
1 2 3 4
>>h=[2 46 8]
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b=

2 4 6 8
D slie 8 C Aniall pn Jiai -; Baalg BangS JAS Axda o Baal g Bas ¢S daia dacd (B

>> c=b/a
C =
2.0000
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Exercise (A)
Q1) Use MATLAB code to evaluate the following functions for x from 1 to 2
in steps of 0.1
1. y=x3+3x%+1
2. y=sinx?
3. y=(sinx)?
4. y =sin 2x + X cos 4x

sol.

x=1:01:2

% part 1

y = X3+ 3*XA2 + 1

% part 2

y =sin (x."2);

% part 3

y =(sin(x))."2;

% part 4
y=sin(2*x)+Xx.*cos(4*x);

Q2) The following code is supposed to evaluate the function :

f(x)= x?cosm x
(x2+1)(x+2)

for x € [0, 1] (using 200 steps ). Correct the code :-

x = linspace (0,1);

clear all

g=x"3+1,;

H=Xx+2;

Z=X"2;

Y = COS Xpi;

f=y*z/g*h

clear all

x = linspace ( 0,1,200);
g = X.\3+1,

h=x+2;

Z=X."2;

y = c0s (X*pi);
f=y.*z./(g.*h);

Q3) Write MATLAB program to find the minimum element in matrix a(4,2).
Solution
clc ; clear; close all;
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a = input (‘the matrix’);
min=a(1,1);
for i=1:4
for j=1:2
ifa(i, j)<= min
min=a(i, J);
end
end
end
disp(min);

Q4) Suppose a and b are defined as follows :
a=[2 -15 0];
b=[3 2 -1 4];
Evaluate by hand the vector c in the following statements :
a. c=a-b;
c=b+a-3;
c.c=2*a+a."b;
d. c=b./a;
e. c=b.\a;
solution
c=a-b
c=-1 -3 6 4
c=b+a-3
c=2 -2 1 1
c=2*a+a”"b
c=12.0000 -1.0000 10.2000 O
c=b./a
c=15000 -2.0000 -0.2000 inf
c=b.\a
c=0.6667 -0.5000 -5.0000 O

=3

Q5) Write MATLAB program to calculate the following sum
N

1 1
DI

i=1

Solution
N =input (* Enter N °);
sum = 0;
for I =1 : N
sum=sum+1/j+1/((j+2)*(j+3));
end
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disp ([ ‘The answer is ‘', num2str(sum) | )

Bib g ol §18 & 5 uany fAiaa
A8 ghan (il g8 2ga gl JATY pale

Q6) Work out the results of the following expression before checking
them at the command line :

a=[-1 0 3],
b=[0 3 1];
~a
a &b
a | b
solution
a=[-1 0 3];
b=[0 3 1];
~a
ans =
01 0
a&hb
ans =
0 0 1
alb
ans =
1 1 1
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Exercise (B)

Q1) Set up a vector n with elements 1,2, 3,4 ,5. Use MATLAB array
operations on the vector n to set up the following four vectors , each with five

elements :
a. 2,4,6,8,10
b. 1/2,1,3/2,2,5/2
c. 1,1/2,1/3,1/4,1/5
d. 1,1/2%,1/3%,1/4%, 1/52
Solution
n=[12 3 4 5]
m=n.*2
m=2 4 6 8 10
m=n./2
m=0.5000 1.0000 1.5000 2.0000 2.5000
m=1./n
m=1.0000 0.5000 0.3333 0.2500 0.2000
m=1./n"2
m=1.0000 0.2500 0.1111 0.0625 0.0400
Q2) Determined the output of the following program :
Clear all
a = input (* please enter a °);
b = input (* please enter b °);
c = input (* please enter ¢ °);
vli=a+b+c;
v2=al((b+c)*(c+a));
vi=al/(b*c);
disp([‘a+b+c=° num2str(vl)])
disp ([ ‘v2=° num2str(v2)])
disp ([ ‘v3=° num2str(v3)])
solution
please enter a 2
pleaseenter b 1
please enter ¢ 3
a+ b+ c=6
v2 0.1
v3 0.66667

Q3) Giventhat a=[1 0 2] and b=[0 2 2] determine the values of

the following expressions . Check your answers with MATLAB .
(a) a~=b
(b) a<b
(c) a< b<a
(d) a<b <b
Solution
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a=[1 0 2],
b=[0 2 2];
a~=b
ans=1 1 O
a<b
ans=0 1 O
a<b<a
ans=1 0 1
a<b<b
ans=0 1 1

Q4) Write some MATLAB statements on the command line which use logical
vectors to count how many elements of a vector x are negative (-ve), zero or
positive (+ve) . check that they work , e.g. with the vector :
[-4 05 30 3 7 -1 6]
Solution
a=[-4 05 30 3 7 -1 61
[i j]=find(a<0)
i =
11 1 — shull a8
j =
1 4 8 —_—> J}Aﬂ\ ng
[i j]=find(a==0)
i =
1 1
j =
2 5
[i j]=find(a>0)
i=
1111
j =
3 6 79

Q5) Write MATLAB program to calculate the following sum :
x3 x> x7  x°
X——+———+—=—-
] 3 5 7 9
Solution
clc ; clear ; close all;
x = input (‘ enter the value of x :”);
n = input (‘ enter end of series n = );
sign=-1;
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sum=0;

for ir=1:2 :n

sign = - sign ; % sign = sign * -1
sum=sum+sign*x~n/n;

end
disp (sum);
Q6) Translate the following expressions into MATLAB :
P+
u
P+i
u+v
P+ v
Soluiii_(;n
(a)p+w/u
(b)p+w/(u+v)
(c)(ptw/(u+tv))/(p+tw/(u-v))
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Exercise (C)

Q1) Work out the result of the following expressions :-
T1=[11;0 1]; T2=[1 0; 0 O],
T=T1&T2
T=T1|T2
T=~T1

Solution
T1=[11;0 1];
T2=[1 0;0 0];

T=T1&T2 givesthematrix T1=[1 0:;0 0]
T=T1| T2 givesthematrix T =[1 1;0 1]
T=~T1 givesthematrix T =[0 0;1 0]

Q2) Write a short MATLAB program to input an integer n and build an by n
matrix with the numbers 1 , 2 ,.... N on the main diagonal and zeros
everywhere else .
Solution
clc; clear ; close all ;
= input ( ‘ integer number :’ );
A =zeroe(n,n);

for i= 1:n
for j=1:n
if i ==j
A(i,j)=n;
end
end
end
disp (A) ;

Q3) The following code is supposed to evaluate the values :-
atb+c, ——— = corrected the cod.
(b+c)(c+a) " bc
= input ( please enter a ) ;

b = input ( please enter b ) ;
c = input ( please enter c) ;

vi=abc;
v2=al(b+c)(c+a);
vd=al/bc;

clear all

disp ( [ ‘a+b+c=¢ num2str(v3) ] )
disp([‘v2=° num2str(vl)])
disp ([ “v3=° num2str(v2)])
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clear all

a = input ( ‘please entera’ ) ;

b = input ( ‘please enter b’ ) ;

c = input ( ‘please enter ¢’ ) ;
vi=a+b+c;
v2=al((b+c)*(c+a));
vi=a/(b*c);

disp([“a+b+c=° num2str(vl)])
disp ([ ‘v2=° num2str(v2)])

disp ([ ‘v3=° num2str(v3)])

Q4) Explore the use of the function round , ceil ,floor and fix for the values x
=03,x=05,x=165 andx=-1.34

Solution

x=[03,05,1.65,-1.34];
y =round (x)

y=0 1 2 -1

y = ceil (x)

y=1 1 2 -1

y = floor (x)

y=0 0 1 -2

y = fix (x)

y=0 0 1 -1

Q5) Work out by hand the output of the following script :-
s=1:6;
t=6:-1:1;

solution

s+t=7
s-t=-5 -3 -1 1 3 5

s.*t=6 10 12 12 10 6

s./t=0.1667 0.4000 0.7500 1.3333 2.5000 6.000
s/ht=1 32 81 64 25 6

1./5=1.0000 0.5000 0.3333 0.2500 0.2000 0.1667
s/2=0.5000 1.0000 1.5000 2.0000 2.5000 3.0000
s+2=3 4 5 6 7 8

Q6) Determine all integer n between 1 and 50 for which n3 —n? + 40 is
greater than 1000 and n is not divided by 3 .
Solution
Clear all;
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n=1:50;
x=find(((n."3-n."2+40)>100)& (mod (n,3)~=0))
X =

Columns 1 through 13

5 7 8 10 11 13 14 16 17 19 20 22 23

Columns 14 through 26

25 26 28 29 31 32 34 35 37 38 40 41 43
Columns 27 through 31

44 46 47 49 50

Q7) Write a script, which inputs any two numbers (which may be equal), and
displays the larger one with a suitable message, or if they are equal, displays
a message to that effect.
Solution
a = 1nput ( * enter the first no. : °);
b = input ( * enter the second no. : );
if a>b
disp ([ num2str(a) °©is greater than ©° num2str(b)]);
elseif a < b
disp ([ num2str (b) ©is greater than num2str(a)]);
else
disp ([ num2str (a) ‘isequal with* num2str(b)]);
end
>> Q7
enter the first no. :5
enter the second no. : 9
9 is greater than5
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